<o @> (rad)

< 00, > (M)

<opyp, > ()

Ratio

0.2 ~ 0.2p :
o A o :
r ) o T
0.5t F - Koo BO0.15 e e I A R SR
- 4 =) - *
R X N SRR 1 A Y O IO < R 1 N F I I N
0.1:— """"" $ v 0.1: :
0.05f -+ {f--- Theededeeeees 0.05f -+ f-oeeeee T
L N1 1 R ) R || R R
~0.05f- -+ g HE- o deeeeeneenes ~0.05 -+ i oo g
0. e -0 R LLAat [ EETTIE-SLLRRRS
0.5+ e g R LTI SRR TR N S TR
_02; v ol 1 ' |! 1 | EEERTIT 9_&2: vl L1 ||! 1 ' |||! EEERTIT
T T 1T T E T : :
E H @ I=---- F-c1r 1l T
1= o T o T + H
3 : OB ---- 4T+ +i+ i + ----------------------
0.5F e F o R B E 111
E : : i1l

1

=
|
[N
=
o o
iN

2 3 2 3
1 TPlpg)T (PCA t%obeamlinélf) TPlpoT (PCA t%obeamlinélf)

—=— DQM_mkFit_TT_baseline_6iter

—— DQM_mkFit_TT_RetrainV2_WP1_6iter

100r

®
o
I

2]
(@)

<od,> (um)

N
o

20F

T
—

=
o
=0
=
o
(]

| 4+ <+
T4l

. T . T .

..... B O ] R A Y 9 i A O

-1 2 3
10 ! TPlp?T (PCA tjbobeamliné'f)

-
----------------------------------------
L
. -
..... R R
HEY
T <+
------------------ B
. +
..... R

B EL O
=T :
HEEA !

: 2 3
TPl[:g)T (PCA t%)obeamlin%)o




	Contents
	Page 1


